CORRECTION

CALCUL MENTAL

OBJECTIF : Compléments a la dizaine, centaine ou au millier supérieur.

4000 = 3800 + 200 2000 = 1300 + 700 700 = 660 + 40 80=71+9
1000 =950 + 50 6000 = 5500 + 500 200 =120 + 80 800 = 780 + 20
60 =58 +2 500 =480 + 20 2000 = 1800 + 200 30=24+6
4000 = 3300 + 700 900 =830+ 70 20=15+5 50=47+3
200=170+ 30 80=77+3 100=98 + 2 50=45+5
6000 = 5800 + 200 8000 = 7200 + 800 100=92+8 90=84+6

900 =890 + 10

40=38+2

10000 = 9600 + 400

1000 = 910 + 90

2000 = 1700 + 300 4000 = 3100 + 900 70=62+8 7000 = 6100 + 900
500 =450 + 50 8000 = 7100 + 900 400 =390 + 10 20=13+7
7000 = 6900 + 100 300 =280 + 20 20=12+8 3000 = 2700 + 300

cm2 - 003

http://micetf.fr/CalculMental/
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